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Solutions for a trigonometric equation are Solutions for a trigonometric equation are the
x-intercepts of its graph.

Set the equation equal to zero

www.mrtownsend.com

Solve_trig_eq_notes.gwh - 3/8 - Sat Feb 17 2018 16:35:05 Solve_trig_eq_notes.gwh - 4/8 - Sat Feb 17 2018 16:35:33

T
=3cot |20 —— =2tan |28 + —
y 4 y 6

A A
T 0]
ln |
& %
3
|
1 T
1
< T ® % 3m m 5t 3t Tt 2t
T T T 3t @w 51 3nm Tm 2n g ==y L S A L3
= X I = = = 4 4 2 4 4 2 4
4 4 2 4 4 2 4 —
=3
=4
| -
=5
=5
=0
=6 Y
Y




solve_trig_eq_notes.gwb - 5/8 - Sat Feb 17 2018 16:35:54 solve_trig_eq_notes.gwb - 6/8 - Sat Feb 17 2018 16:36:22
: g+ ¢ TIn
y=sin|2 +|@ y=4cot|— +—
A A
) T 6 IS
Q
5| Q
- he]
4 4 &
| 2
N
) Hw W
o
-~ b=
) IS
T m .
< >
oY 7 J..H A — V W
_E | 2 ® 3 % 3¢ 3 7r 2 n om 3n 2n Sz 3 Tn 4n 9n
=1 4 - — —r— ———
4 4 2 4 I 2 4 —t—3 3 5 5 5
3
3 4
_— 4
=
‘f\ y<
=
- =0
\ Y
solve_trig_eq_notes.gwb - 7/8 - Sat Feb 17 2018 16:36:43 solve_trig_eq_notes.gwb - 8/8 - Sat Feb 17 2018 16:37:05
y=3cos 36 1 St
y=—-cot|280 ——
A 2 3
| A
I
0
A 5
3 4
a1 2
Z] |
t 2|
< > :
< — > +
n # n 3n nm 5m 3n Tn 2n
— = =& «< - >
4 4 2 4 4 2 4 n T 7w 31 w S5t 3m Tm 2n
L - A1
-3 70 3 2 3 7 2 2
2 =2}
=J
—4 )
| —
=5
=X
Y =6
Y






